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L (2003b) 60.0 km
w 16.0 km
N 1-1 (2) S=L W 960.0 km?
Dy 3.0 km
M, ®) Mo=1{S/(424x<10"")}? 513E+19N m
logM (N m) = 1.5%M +9.1 7.1
M, My =(log L +2.9)/0.6 (7.8)
AC 15) Ao=T/16*M R’ 4.2 MPa
n u=pB’ .p=2.7g/cm’ p=3.4km/s 3.12E+10 N/m*
D 5) D=My/(uS) 171.3 cm
B 3.4 km/s
A (6) A4 =246%10"*M," 1.97E+19 N my/s”
s, S=nr? r:lf%;/f 283.5 km?
D, D,z=yp D 342.6 cm
My, (B) My=uS.D, 3.03E+19 N m
AC,, (14) Ao =T/16*M/(r*R) 142 MPa
(2003b)
Sar 2/3 189.0 km®
Dy (13)  Dy=Mp/ (¢ Sa) 379.7 cm
M pay L5 224E+19N m
o Oup =000 14.2 MPa
(2003b)
Sa2 1/3 94.5 km®
D, (13) Duy=Myy/(u Sy) 268.3 cm
M g 1.5 791E+I8N m
o Cup =000 14.2 MPa
Mg, 12) M g=M -M g 2.10E+19 N m
S, S4=5-S asp 676.5 km’
D, (13)  Dy=Mo/(uS,) 99.5 cm
o, an 33 3.2 MPa
T (D YWD g/ W o) *28,18, T oy
1-3(2)
1-3(3)
Vi (22) Ve=0.72*3 2.4 km/s




